BEAEEASARITTZENE, BLARIFTTSL20 BADYES. £ o
HEZ, ASh, BLALATHRDE Ui, AENKRHZETI, ASARI0HE, B
(AL RS E L, CORTREDTH 502 ETIRMELDY & Ui,

(#%) =kE%. (30, 20) ORMLEHE60LETEL,
60

1H®ﬁ%§m~A=?3=2

60
B=—=3
20

£HT, A oBAHE. xBEEB L,
2x (x—10) +3x%x (x—5) =60

chzfiE<,
2x—20+3x—=15=60
5x=95
x=19 H

&2T. RHBHEE. 19HTHS,

4| sremreson, Asarisn BEius H, CEARIZABNO 23, 3

AﬁﬁEAaByc@mﬁfrkfﬂﬁﬁbrﬁ<&%,ﬁ%mﬁaatﬁbgiﬁm'

(f8) <=HEE. (15, 8, 12) OBR/NAEH120ET5E,
1EOHEEEF. ‘

C=——=10
12

A+B+C=33 ¢G5DT, 3EETO 9¥ D5,
BYlX, 120-99=21&HY, A+B=23LLZDT,
3x3+2=11 HTIRTEHS,

plEkY, ROBEE. 11HETHS,



